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Section 7.5-7.6 Extra Practice Date Period :
1. Approximate the perimeter of the figure below.
105 e X=\13 YA E smss'-_%g wLhh: ¥ | AY l:(nngN?-m to A%
: = — T a T 248 -
. 80°@ ' : e so S«de lengthy are
O) @ S ~/—15¢cm V=2.U9855  4:q480005¢ )
13- s () £y A X 11 the same
148 ¢ |55° 0 2 V=303 t-144a
m U 55°
=20} We1.03
. - A5 |1 s 6539: ¢ Perimeler = 14 um ’
(AT kneosis  ginor i, [AZ] tanss= 2 coss-tn4 ] e T L
AL e - N
b a C Cl 248035 o) agai3g
1.5=41anb0  1.§:xXsinb0

Z2-1utanss 114 WSS 14 v 303
yo.¥t X=113 2:349 w=3.03

2. Find the perimeter of the figure below, where AC=26, AD=BF, and D is the mid_gg’mt of AC.< So AD=13 and DC:13
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3. Find the top length of the stack of right triangles. /(Hint: Start from the bottom)
H - J‘.;: 65’\\' [OIYLERS ‘\\ l.‘lll'\fl-\“" Xz
-5 A X
oW long ; L‘ﬁ ; tog. 2247 %>
g is thic . 34° % RCOS3Y 11 '
; H"s s‘de? k] eIy ? 0 Xz16.53
\ > (A
A —105% |

2.4 546 ¥
g oty ~ 0s2) = \032
3""‘7,,5. I 1018 X = x
<0, jo-
0.Js 3:\0-]((0&“ Jl\ym,,;:xw&l‘
;PO A 2

Y = 10.5¢

®

1032 R 008
28550387 *
3.8 LTy sl A
MMyt 128,820 -
x5 (4. 3828
%104 Q_)!\ RIS s T
q :
x=13.0%
tan4dd = X \r
-
r= 144 funtd
%= 614 .
The fop side 1S abovy
snite 614 {34 om
T X B e ——
6.14: Xsind]
; LY
< >
8 cm
sins3 =X
)

R=16 S 5\nS3
%z 1338




4. A 625 foot long wire is attached to the top of a tower and is connected to the ground. If the wire

makes an angle of 65° with the ground, how tall is the tower?
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5. Batman is standing on the top of a building making sure crime is silenced. He spots his enemy, the
Joker, up to no good. Batman’s angle of depression from the top of the building to the Joker who is on

the ground is 38°. The height of the building is 456 feet. Help Batman capture the Joker by caIcu(ajting
C

the Joker’s distance from the bottom of the building.
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6. A damsel is in distress and is being held captive in a tower. Her knight in shining armor is on the
ground below with a ladder. When the knight stands 15 feet from the base of the tower and looks up at

his precious damsel, the angle of elevation to her window is 60°. How long does the ladder have to be in

order for the knight to rescue her?
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7. Suppose you are flying a kite and it gets caught at the top of the tree. You’ve let out all 100 feet of

string for the kite, and the angle that the string makes with the ground is 75 degrees. Instead of

worrying about how you are going to get your kite back, you first wonder “how tall is that tree”?
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8. You are standing on the top of a cliff that is 30 feet above the ocean. You see a sailboat down in the
water below. The angle of depression that you spot the sailboat at is 34°. How far from the base of the

cliff is the boat?
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9. Julie is 6 feet tall. If she stands 15 feet from the base of a flagpole and looks up to the top of the
flagpole at an angle of 47°, how tall is the flagpole?
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12. From the foot of a building, | have to look upwards at an angle of 22° to see the top of a tree. From

the top of a building 150 meters tall, | have to look down at an angle of depression of 50° to look at the
top of the tree. How tall is the tree? How far apart are the building and the tree?
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13. At a point 200 feet from the base of a building, the angle of elevation to the bottom of a smokestack

located on the top of the building is 35°. The angle of elevation to the top of the same smokestack is 5//" )

Find the height of the smokestack. A,f/
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14. A helicopter is hovering 800 feet above a road. A truck driver observes the helicopter at a 20° angle.

Twenty five seconds later, the truck driver notices that the angle to the helicopter is now at 65°. How far

did the truck move in those 25 seconds?
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15. The design for part of a water ride at an amusement park is shown. How high is the ride above point
D? What is the total distance from point A to point B to point C? Round to the nearest tenth.
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